Scientific Notation

Name

1. 62,000 =

3100

> 280

’-9,939,000 =

% 3,500 =

11..870,000 =

13. 56 =

15..38,000 =

17. 360

19. 160

-

2.

10.

12.

14.

16.

18.

20.

Worksheet 8 - Provide the scientific notation for the value.

230,000 =

29,000 =

12 =

4,400 =

42,000 =

2,300,000

3,700 =

8,600,000

/8

46
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Score: /20




Scientific Notation Name

1.

11.

13.

15.

62,000 = 6.2 x 10"

100 = 1 x 102

280 = 2.8 x 107

9,939,000 = 9.939 x 10°

3,500 = 3.5 x 10°

870,000 = 8.7 x 10°

56 = 5.6 x 10*

38,000 = 3.8 x 10°

2.

10.

12.

14.

16.

Worksheet 8 - Provide the scientific notation for the value.

230,000 = 2.3 x 10°

29,000 = 2.9 x 10*

12 = 1.2 x 10*

4,400 = 4.4 x 10°

42,000 = 4.2 x 10*

2,300,000 = 2.3 x 10°

3,700 = 3.7 x 10°

8,600,000 = 8.6 x 10°

17. 360 = 3.6 x 10? 1878 = 7.8 x 10*
19160 = 1.6 x 10? 20. 46 = 4.6 x 10*
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